Math 10-C Systems of Equations Assignment List Name:@
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Solving Systems of Equations Gr"aphically Name: V/E\f

For each question, graph both equations on the same grid and locate the
intersection point,
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C Rich Problem: Choose a Wage Type (SOLUTION)
Declare variables:
w = weekly wage
h = hours worked in a week
Equations:
Option 1. w = 10h + 150
Option 2: w = 15h + B0
Which Option is Better?

Analyze with a Graph / Table of Values

h w w
(OpTion D (Opfion 2) Weekly Wage Options
W , :
0 $150 $50 Option 2
, $200 | _
O 10 $250 Weekly |
350 / :
20 $350 $350 | e
30 $450 $500
40 $550 $650 20 h
Hours per
Week (hr)

Both options make the same amount if you work 20 hours. If you work less than 20
hours a week you should choose Option 1 but if you work more than 20 hours a
week you should choose Option 2. :



Systems of Linear Equations Name: }45:/
C2 Assignment - Number of Solutions to a System

1. Predict the number of solutions for each system of linear equations. Justify
your answers.

y=4x-1 y=3x+5
a) b
y=4x+7 y=-3x+5
m=o i{)o So}\x\\‘o(\! mx - |ofe sovion
b X
x+2y=7 d) 2x—y+3=0

Sx+10y =35 2x=-y-T7=0
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2. Graph each system of linear equations and indicate the number of solutions.
6x+2y=10 x+y=9 3y=x+6
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jy=-3x-1] x=y=9 6y—2x=12
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3. Aline is defined by the equation y=%x—4. Determine the equation of a second

line such that the system of linear equations has...
a) no solution

W= 2« -
o>
b) an infinite number of solutions

= %_7( ’y A&SW@S MOA ey

¢) one solution
4=

4. Service charges of two cell phone companies consist of a constant flat rate and
a rate per minute of use. If Crepresent the total cost and mrepresents the
rate per minute, use values of your choice to create a system of linear equations
that expresses the service charges of the companies where the sysiem has
a) one solution

Cmmp%l_’ C/;]Bm'{"@‘

b) no solution

Copeny | 5 £ = [5m 3 30 A\Swmw\j\mfj&l
Copnr -+ C 5 1 5m HI

¢) an infinite number of solutions

Lm»‘m\bl =C‘.~%3’ r C:)EM&D—D
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M10C Systems of Equations - Quiz C1,C2 Name: H:/\Z[
Date:

E:\ < ‘“9\74 "%

1. Solve each system of linear equations graphically.

y=-2x+35 y=4x+8
a) y=x—4 . 8) 2x+3y=-18 /ﬁ ﬁ'-"x -6
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2. Verify that the point (2,5) is a solution to the following system of linear
equations? Show all work. < +\{$ = 3 L — . o
g ee (HTIEY = > 3(2) —(5) =3
| ’ yrd0 =3 § = & =D
A& 90\\1\}“()(\, jrs Q,&/ LS&\@S o

3. Predict the number of solutions for each system of linear equations. Justify
your answers,
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M10C Systems of Linear Equations / 8 Name: KE?Z
Quiz C3-C6

Solve each system of equations using an algebraic method (Substitution or

Elimination). - e \
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3. A B00-spac is filled with motorcycles and passenger cars, with only

one vehicle in each space. How many motorcycles and cars are there if the total
number of tires on the parked vehicles is 16502

m:‘ﬁ’d’g f‘noﬂw&rj% # vehidle —p mic = SUO D)
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4. A sports club charges an initiation fee and a monthly fee. At the end of 5

months, Christelle had paid a a total of $170. Her friend, Keaton, had paid $295
at the end of 10 months. What is the initiation fee and what is the mon‘rhly

fee7
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Solutions = (Fbley Solving, Rohee

1.

2,

Easy 4U if he drives less than 520 km. Speed-E-Car if he drives more than 520 km.

Basketball - 72 minutes; Biking - 18 minutes

. Bicycles - 20; Tricycles - 10

Bagel - $1.75; Juice - $1.25

Grapes - 121.875 g: Oranges - 203.125 g



